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INSTRUCTIONS

Description

This question paper has 3 Sections.

Section A is Objective Type [with 20 MCQs] - 20*2=20 Marks

Section B has Short Answer Questions [ 5 Questions] = 5*8= 40 Marks

Section C has Long Answer Questions [ 1 Question with 2 parts] = 2*10=20 Marks
Instructions

Go through the questions carefully!

Think carefully, apply your knowledge and answer! Content you write matters than the length

Do not copy; Do original work; Your answers will be run through plagarism check. You will lose marks if
found copied!

Total Marks: 100

Total Time: 2 hours

Timed Test

This test has a time limit of 2 hours. Your remaining time is approximately 00 seconds.
Timer Setting

You will be notified when time expires, and you may continue or submit.
Force Completion

This Test can be saved and resumed later. The timer will continue to run if you leave the test.
Due Date

This Test is due on07 July 2020 12:00:00 o'clock IST.Test cannot be started past this date.
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Section B
SR (CO4) With one example each differentiate between Inductive, Abductive and Deductive Machine Learning
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Section C



This question has two parts: (a) and (b). Both are compulsary; (CO4 )(a). Taking any problem statement of

your choice and a technique of your choice, discuss how to devleop a classifier using Machine Learning? (CO4)

(b). Recommender engines in e-commerce websites use Machine Learning? If you were given task to code such
ESS engine, which techniques and steps you would use and why so? Give your reasons



